[IntrabarOrderGeneration = False] 

Inputs:

        ATRLength(  5),UseATR(False),

     
EnterStartTime(0930),EnterEndTime(1615);

variables:

    S1(0),S2(0),S3(0),R1(0),R2(0),R3(0),PP(0),


TodaysHigh( 0 ),


YestHigh( 0 ),


TodaysLow( 0 ),


YestLow( 0 ),


TodaysClose( 0 ),


YestClose( 0 ),


Counter( 0 );


if Date <> Date[1] then


begin


{ increment Counter to be sure enough data is processed - see comment below }


Counter = Counter + 1 ;


YestHigh = TodaysHigh ;


YestLow = TodaysLow ;


YestClose = Close[1] ;


TodaysHigh = High ;

   
TodaysLow = Low ;


PP = ( YestHigh + YestLow + YestClose ) / 3 ;


R1 = PP * 2 - YestLow ;


R2 = PP + YestHigh - YestLow ;


R3 = R2 + YestHigh - YestLow ;


S1 = PP * 2 - YestHigh ;


S2 = PP - YestHigh + YestLow ;


S3 = S2 - YestHigh + YestLow ;


end

else


begin


if High > TodaysHigh then



TodaysHigh = High ;


if Low < TodaysLow then



TodaysLow = Low ;


end ;

variables:


MyATR( 0 ), Open_Next_Bar(0),Price(0) ;

Inputs: ATR_Pft(.50),ATR_Ent(.25);

IF UseATR then

MyATR = AvgTrueRange(ATRLength)

  else 

MyATR = Average(Range,ATRLength);

Value2 = MyATR * ATR_Ent   ;

inputs:   Length(  5), Displace(  0) ;

variables:  Avg1(0), Avg2(0),Condition99(False),OpenPrice(0),


         BuyEntryPrice(0), SellEntryPrice(0);

BuyEntryPrice = (Open_Next_Bar + Value2) ;

SellEntryPrice = (Open_Next_Bar  - Value2) ;

Avg1 = AverageFC( Close, Length ) ;

Avg2 = AverageFC( Open, Length ) ;

Open_Next_Bar = Open next bar ;  

Condition99= (Time >= EnterStartTime and Time <= EnterEndTime) ;


Inputs: StopLossAmount(2000);

Vars : ProfitTargetAmt(0),BuyTargetProfit(0), SellTargetProfit(0) ;

SellTargetProfit =  (MyAtr * ATR_Pft) ;

BuyTargetProfit  =  (MyAtr * ATR_Pft) ;

ProfitTargetAmt  =  (MyATR * ATR_Pft)* BigPointValue ;      

If  Condition99 then begin

// Buy  //


If MarketPosition <=0 and CurrentBar >= 1

     Then Begin

If Avg1 > Avg2 then 


       buy ("ATRBuy")  next bar at  (Open_Next_Bar + Value2)  Stop ;

        end ;

// Sell //

If MarketPosition >= 0 and CurrentBar >= 1
    Then begin

If Avg1 < Avg2 then 


        SellShort ("ATRSell")  next bar at (Open_Next_Bar - Value2)  Stop ; 

          end ;

{-----------------------------}

// Exits //

If MarketPosition = 1 and CurrentBar > 1

    then 


      Sell ( "ATRLX-Tgt" )  next bar at BuyEntryPrice +  SellTargetProfit limit 

   Else 
  

         Sell  next bar at Open_Next_Bar  stop ;

          end ;

If MarketPosition = -1 and CurrentBar >1


then



BuyToCover ( "ATRSX-Tgt" ) next bar at SellEntryPrice - BuyTargetProfit limit

   Else

   
    BuyToCover next bar at Open_Next_Bar  Stop ;

SetStopLoss(StopLossAmount);





SetProfitTarget (ProfitTargetAmt) ;


Input: MyExitTime(1600); //assuming exchange time 

if Time = MyExitTime then 

begin 

If MarketPosition >=1 then Sell("S-EOD")next bar at market; //closes all long positions 

If MarketPosition < 0 then BuyTocover("B-EOD")next bar at market; // closes all Short positions 

end ;

inputs: 

ExitOnClose(true);

if ExitOnClose = true then   // Back Testing Purposes Only //


SetExitOnClose ;

print(date, time, Avg1, Avg2,BuyEntryPrice,  Value2 ,Open_Next_Bar , MyATR , (Open_Next_Bar + value2[1]), BuyTargetProfit, SellTargetProfit ) ;

